1 AABERE

(1) EH(T2—-1)

(FERR294F)
R 4 A a0/ 181/ #) H & o
% B B -3 #w B 5B g3
2 B 126,706,210| 61,655,387| 65,050,823 946,065 484,449 461,616
¥ & R 2,010,698 974,382 1,036,316 14,039 7,138 6,901
BEREH 203,759 98,063 105,696 1,310 672 638
ZaRt 109,014 52,580 56,434 701 364 337
WmiB ™ 37,807 18,133 19,674 231 119 112
T g hH 56,938 27,350 29,588 378 189 189
B 4 3t T o B A B m #
% ™o B -3 #“w B B -3
2 H 1,340,397 690,683 649,714 -394,332 -206,234 -188,098
Is; B R 22,964 11,781 11,183 -8,925 -4,643 -4,282
EREH 2,405 1,229 1,176 -1,095 -557 -538
Rt 1,141 606 535 -440 -242 -198
WmiB ™ 492 247 245 -261 -128 -133
+ g 772 376 396 -394 -187 -207
L R % T #
B ER
SR R 5 ¥ | e
£ H 1,761 929 832 832
I¥; B IR 29 15 14 13
EREH 2 1 1 1
giaRm 2 1 1 1
Hi JR T - - - -
+ g = - - -
3t i3 A E B & © #
B 4 iR 22 BB | BEEH| HIEER
B B A A I # % ELLED BAER
3 B % T
£ H 20,358 9,738 10,620 3,308 2,683 625| 606,866 212,262
I¥; B IR 254 128 126 54 46 8 8,392 2,963
BB 15 4 11 2 1 1 822 278
Z2ARR™ 10 3 7 2 1 1 427 162
WmiB ™ 2 - 2 0 - - 157 50
T 3 1 2 0 - - 238 66




(2) #E (T2—2)

(ER294E)
& E E 3 FBEERATE T *2
B %5 R|FH&ER IR B
B &% |4 B HE RN I | 228 |§ER|EmE e
* *  |(HEInER|FET-X|FET-H LD =| * *
* *2 %2 3% PE

£ E 7.6 10.8] -3.2 1.9 09 211 10.1 11.0 35 28 0.7 49| 1.70
== 71 11.7 -4.5 2.1 0.9 17.8 9.0 8.8 3.8 3.3 0.6 43| 1.50
BB 6.4 118 -54 1.5 0.8 11.3 3.0 83 1.5 0.8 08 40 1.36
ZAR™ 6.4 10.5 -4.0 2.9 14 14.1 4.2 9.8 2.8 14 1.4 3.9 1.49
RBTH 6.1 13.0] -6.9 0.0 0.0 8.6 0.0 8.6 0.0 00 0.0 42| 1.32
T g™ 6.6 13.6] -6.9 0.0 0.0 7.9 2.6 52 0.0 0.0 0.0 42| 1.16
* BIFAOFR *2 FEIHEFH *3 FBEHETFH
<BHLHEOHEHAE>

WA - - 1B - B IR R =1 EEDEH 10 1BEHED A O X 1,000
BEAENE=(EROEEH -1 FEROETEH) ~1081HEAEDAD X 1,000
WItERBAREESRE - NTIER) =%E (BA- AI)H/HE (K4 +FEE)E x 1,000
BERRECEGFERECER - BHHFAERECTE) =2 RETHFER - BHHFERETEH) ~H 4% x 1,000

W B FE RS 3 =0T R 22:8 LI D FEEE S+ R HAFT A IR FETC 30 H EE (AR 3R+ 0T R 752238 LA % D B EE 20D %K % 1,000

W IR 2 2:E LU DFEE R =T iRm22:E IR DSEES . H E (B A+ 1T iRiE22:8 LIE DOFEEE) x 1,000

<FTEHEHICAW=-AQ>

2EOAO

XEERVIEEROYIEX, EEHBEARIE

IEEEDAD : Fr29F10F7 1 BIRAEHET AD (BHETER)
HETAOAD : ERL29E108 1 BIRAEHET A D (BHETEE)

D ER29F10A 1 BIREHSIAO (BHFEHAR)

B % 2 -8
124,648,471 60,675,736 63,972,735
1,970,000 956,000 1,014,000




2 H &

(1) FERFIHER-FE (T2—-3)

= 4 F B 20 & F B 21 & F R 22 & F R 23 & F R 24 &
£ B | EBx| E B | x| E B | Bx| E B | Fx| E B | F~«
& E| 1,091,156 8.7| 1,070,035 85| 1,071,304 85| 1,050,806 83| 1,037,231 82
gk B B 17,506| 8.5 17,327| 85 16,887 8.1 16,851 8.3 16,496 8.1
= A 1,584| 1.3 1,655 7.7 1,558| 7.3 1,608| 7.6 1,515 7.2
2aRM 850| 7.4 902 7.9 831| 74 872 18 812 7.3
I B ™ 290 7.0 304| 74 303 75 289| 7.2 301| 7.6
+ i Th 444| 171 449| 174 424 170 447 14 402| 6.7
X 4 SRR 25 £ 5 RR 26 £ IR 21 & SRR 28 £ SE R 29 &
£ B | EBx| E B | Bx| E B | Bx| E B | Fx| E B | F~x
& E| 1,029,816/ 8.2| 1003539 80| 1005677 8.0 976,978 7.8 946,065| 7.6
g B & 16,000 7.9 15,138| 175 15,464 7.7 14831 175 14,039 7.1
= AN 1,462 7.0 1,352| 6.5 1,440| 7.0 1,375 6.7 1,310| 6.4
2HERE™ 771 6.9 734| 6.5 776| 7.0 717| 6.5 701 6.4
I R ™ 326/ 8.3 251 6.4 271 170 285 7.4 231| 6.1
T & 365| 6.2 367| 6.3 393 6.8 373 6.5 378 6.6
* (I AOFx

HAEZEDOHE(F2—1)

10.0

9.5

—— 2 E Wi B R A

&




(2) HEREE(T2—-4)

(FRE294F)
N 1,000¢ |1,000~ 1,500~ 2,000~ 2,500g =
R 2 |& % RKith 1,500 | 2,000g K 7 |2 500k L T
2 946,065 2,660 4243 11,301| 71,149 856,581 131
g, B || 14,037 35 71 156 1,052 12,723 -
= N 1,310 4 2 11 112 1,179 2
ZaRm™ 701 2 1 5 65 627 1
I B T 231 1 1 2 17 210 -
T g ™ 378 1 - 4 30 342 1
(3) HFRANEAEIR (2,500gkKi#H) HEH-FE (T2—5)
R 4 E R 20 £ FRE21 & SRR 22 & 3 RE 23 £ ¥ B 24 £
£ # B £ B £ Hx £ ¥ £ ¥
2 104,479 9.6| 102,671 9.6/ 103,049 9.6/ 100,378 9.6/ 99,311 9.6
g B B 1,616 9.2 1,622 9.4 1,569 9.3 1,627 9.7 1,575 9.5
= 7| 161 10.2 180 10.9 155 9.9 154 9.6 165 10.9
Z2AR™ 87 10.2 114 12.6 80 9.6 81 9.3 97 11.9
I B ™ 26 9.0 31 10.2 24 7.9 28 9.7 29 9.6
T Ik 48 10.8 35 7.8 51 12.0 45 10.1 39 9.7
R 4 I RE 25 & I R 26 £ I RE 21 & I RE 28 £ IR 29 &
£ # Hx £ B £ Hx R Hx £ B
2 98,624 9.6| 95,768 95| 95206 95 92,082 9.4| 89,353 9.4
gk B B 1,496 9.4 1,322 8.7 1,402 9.1 1,349 9.1 1,314 9.4
= A 157 10.7 124 9.2 150 10.4 162 11.8 129 9.8
Z2aRm 80 10.4 71 9.7 81 10.4 78 10.9 73 10.4
I B ™ 37 11.3 18 7.2 21 7.7 31 10.9 21 9.1
T ik ™ 40 11.0 35 9.5 48 12.2 53 14.2 35 9.3
* FE[I% (HEBX)
* FER7EICIEGRERIIN2,500¢LTORIMSM2,500eKFBDRIEEBEINT-,




(4) BOFRANHERK(T2—6—1)

(ER294E)
K 9 | 158 Kilhi | 15~198% | 20~248% | 25~29&& | 30~34% | 35~39%% | 40~44%E | 45~498 | 50mELIL e &t
& =l 37 9,861 79,264 240,933 345,419 216,938 52,101 1,450 62 - 946,065
ik B B 1 153 1,181 3,962 5,120 2,969 635 16 2 - 14,039
=i A - 17 103 360 467 302 56 5 — — 1,310
ZHREREM - 9 63 173 258 165 30 3 - - 701
I B T - 3 12 75 85 52 4 - - - 231
T & h - 5 28 112 124 85 22 2 - - 378
A RBRBICETBOERERHEST
(5) FEEHANZFAO -G FERHEE(T2—6—2)
(FRE29%F)
Lkl
X 4 15~198% | 20~248% | 25~29%% | 30~348% | 35~398% | 40~44%% | 45~49%% 4
2 E| 2,867,362 2,881,503 2,935742| 3,379,099 3,776,188 4,563,922| 4,583,076 1.43
i B R 49,000 42,000 41,000 47,000 54,000 69,000 70,000 1.51
B A 4,951 4,678 4,452 4,842 5,482 6,721 7,237 1.33
2AaR™ 2,628 2,486 2,302 2,676 2,981 3,636 4,048 1.32
I B 968 921 907 887 1,004 1,164 1,284 1.25
:I:& ] 1,355 1,271 1,243 1,279 1,497 1,921 1,905 1.41
H
2E BEEHHBRIEHEGCRER) . B AO-BRAAD (FRH29510A1BRE)
B RBELEHFBRIER (GHER) . B AD-BRAAD CER295E10A1BERT) |
i1 BEEERITETA R - i (B8 - B A0 (ER29510A 1 HERE) |
(E®)
O£ERUVBEERDEHBHRHER L, EEFEBELRE,
AHERHEROFHICE. ZERVREFEZINOZEOBERAAD,
TEXSEERANDZEDRAOZEA,
OHHBIZAW-HEBD ISR RVIORICEFAEFNI4BLUT. 0L LEET,
(6) ATiEiRAitE il - EiRBRIOBHEH(T2—6—3)
(CER294EE)
X % B #® TETELIET | #e~118 | W12~158 | F16~198 | #20-21:8 T
“w % 288 189 94 - -
20 ki 28 18 10 - -
20~24 54 34 20 - - - -
25~29 46 30 16 - - - -
30~34 53 30 22 - - 1 -
35~39 75 58 16 - - 1 -
40~44 24 14 9 - 1 - -
45~49 8 5 1 - 2 - -
50 E - - - - - - -
r B = - - - - - -




3% T

(1) FERMFECTH-E (T2-7)

B 4 E B 20 £ F Ak 21 £ E R 22 £ ¥ Bl 23 £ ¥ Bk 24 £
E OB | Ex| E OB | FEx| B OB | EBx| E ¥ | Bx| E ¥ O|E«
2 H 1,142,407 9.1| 1,141,865| 9.1| 1,197,012 9.5 1,253,066 9.9 1,256,359 10.0
Iz B8] 19,478| 9.5 19,402| 95 20,220 9.7 21,053 10.3 21,531| 10.6
g N 2,013 9.3 1,980 9.2 2,038 95 2,004 9.9 2,162 10.3
ZRR™H 945 8.3 910/ 8.0 988 8.8 977| 8.7 1,004| 9.0
R 390 94 427| 104 413| 10.2 451| 113 459 11.6
T &k W 678| 11.1 643| 10.6 637| 105 666 11.1 699 11.7
2 4 E Rk 25 £ I Rk 26 £ Rk 27 &£ I Rk 28 £ ¥Rk 29 &
£ ¥ | Ex| R OB | Bx| B O | Bx| E OB | Bx| E OB O| EBx
£ H 1,268,436| 10.1| 1,273,004| 10.1| 1,290,444| 10.3| 1,307,748| 105| 1,340,397| 10.8
= -} 21,518 10.7 21,658 10.8 21,996 11.0 22471 11.3 22,964 11.7
T A 2,173| 10.4 2.211| 10.6 2,230 10.8 2,305 11.2 2,405 11.8
ZARR™ 1,016| 9.1 1,044 95 1,070 9.7 1,063| 9.7 1,141| 10.5
R 430 10.9 471 121 456 11.8 519 135 492 13.0
T &k 727| 123 696 11.9 704| 12.2 723| 12.6 772| 13.6
* (I AOQFx
AOFot RETEDHERF2—2)
13.0
120 11.8
' 113 -8
11.0 10.6 107 108 glL0. =&, '
------ 108 10.8
10.5
no 101 103
90 }
8.0
7.0
6.0 ,
20 21 22 23 24 25 26 27 28 29 &
——2% E-FEER AT §




(2) TEFEFEMNFECTH-E-BH-BLH (T2-8)

<> (ERL294F)
. R =
5 o5 @M = 05 A fei m & &= & i & B(BoEEERS)
<HETH M (Fi8) P H I (F48) i (F18) 2L HEE T DD Ml K A (F48)
=2 ™ Fx (xEsex E B Fx ERGe+ B B | T x (ZEMHE | FE H | Fx (zune F B | Bx zm0e« B M| Fx ZE0e+ B B | L+ [ZE0a+F | T x [ZEHe+E | Fx [ZEHL =«
£ [E| 1,340,397|1,075.3 100( 373,334 2995 27.9| 109,880| 88.2 8.2 12,307 9.9 0.9 32,654| 26.2 24| 62,122 4938 46| 204,837| 164.3 15.3| 34,950 28.0 2.6 34,907 28.0 2.6
I & 1] 22,964(1,165.7 100 6,117 3105 26.6 1,906 96.8 8.3 228 11.6 1.0 593 30.1 26| 1,058 53.7 4.6 3,520| 178.7 15.3 803| 40.8 3.5 287 14.6 1.2
g W 2,405|1,180.3 100 698 342.6 29.0 190| 93.2 7.9 19 9.3 0.8 62| 304 2.6 107 525 44 367| 180.1 15.3 101 49.6 4.2 33 16.2 1.4
ZAR™ 1,141| 1,046.7 100 338| 310.1 29.6 91| 83.5 8.0 12( 11.0 1.1 30| 27.5 2.6 48| 440 42 165 151.4 14.5 56 51.4 49 15 13.8 1.3
I ] 492(1,301.3 100 137 3624 27.8 46| 121.7 9.3 3 7.9 0.6 13| 344 2.6 30 79.4 6.1 63| 166.6 12.8 8 21.2 1.6 8 21.2 1.6
T g 772(1,355.9 100 223 391.7 28.9 53| 93.1 6.9 4 7.0 0.5 19| 334 2.5 29 50.9 3.8 139| 2441 18.0 37 65.0 48 10 17.6 1.3
R 4 fii 3% TERDEHR 2 = B ® F % &8 R - "R = w &
£ ¥ K+ (Ezex FE s+ |ERBE B B | Ex EHG+ T M | Fx (zEnex F | Bx (mmwe« 2 B | Tx |xEse+ E ¥ | Ex (mEme« E | T x |EEme
£ = 96,841 11.7 72| 40,329 324 3.0/ 101,396 81.3 7.6 20,465 16.4 1.5( 17,018 13.7 1.3| 25,134 20.2 1.9( 13,969 11.2 1.0 2,306 1.9 0.2
Iz B ] 1,591 80.8 6.9 836 424 3.6 2,014 102.2 8.8 331 16.8 1.4 251 12.7 1.1 406 20.6 1.8 186 9.4 0.8 36 1.8 0.2
g N 139 68.2 5.8 75 36.8 3.1 277( 135.9 11.5 33| 16.2 1.4 17 8.3 0.7 48 23.6 2.0 10 49 0.4 6 2.9 0.2
ZaRh 74 67.9 6.5 36 33.0 3.2 116| 106.4 10.2 18| 16.5 1.6 6 5.5 0.5 20 18.3 1.8 4 3.7 0.4 3 2.8 0.3
miB ™ 23 60.8 4.7 14 37.0 2.8 79( 209.0 16.1 5| 13.2 1.0 6 15.9 1.2 6 15.9 1.2 3 7.9 0.6 3 7.9 0.6
T g 42 73.8 5.4 25 43.9 3.2 82| 144.0 10.6 10| 17.6 1.3 5 8.8 0.6 22 38.6 2.8 3 5.3 0.4 = 0.0 0.0
* B AO10BFAHBYORTEHE (ZERVRORZIEEHTBEARIE)
* SEEBE BRI HEEZNDOEE
<EBE> (FERi294F)
. R =
5 o5 @M = 05 A fei m & &= & i & B(BIEEERS)
<HETH M (FS) RPN H f (F48) MiEE (FR) 2D HEE E DD Mt E(FB)
2 ¥ Fx (x@Esax] E Ex ERAa+ B B | Fx (ZEe+ B B | Bx (zaue+ B B | T zEne« B | Fx ZEne+ E ¥ | Fx [zE0a+ K H| T+ (Z@sex+E | Fx [ZE8s
£ H 690,683|1,138.3 100( 220,398| 363.2 31.9( 53,188 87.7 1.7 4535 1.5 0.7 17,881 295 2.6( 29,494| 48.6 43| 96,319| 158.7 13.9]1 19,975 32.9 2.9( 20,500 33.8 3.0
gz B IR 11,781(1,232.3 100 3,564| 3728 30.3 874 914 714 83 8.7 0.7 305 31.9 2.6 476 4938 40 1,658 173.4 14.1 440| 460 3.7 175 18.3 1.5
T K 1,229(1,253.3 100 407| 4150 33.1 95| 96.9 1.7 6 6.1 0.5 37| 37.7 3.0 51 52.0 4.1 162| 165.2 13.2 50| 51.0 41 20| 204 1.6
ZAR™ 606|1,152.5 100 204| 388.0 33.7 42| 79.9 6.9 2 3.8 0.3 20| 38.0 3.3 20 38.0 3.3 82| 156.0 13.5 29 55.2 48 9 171 1.5
I ] 247)1,362.2 100 73| 402.6 29.6 23| 126.8 9.3 2| 11.0 0.8 7| 38.6 2.8 14| 77.2 5.7 27| 148.9 10.9 4] 221 1.6 5 27.6 2.0
T g 376|1,374.8 100 130| 4753 34.6 30| 109.7 8.0 2 7.3 0.5 10| 36.6 2.7 17 62.2 45 53 193.8 14.1 17 62.2 4.5 6 21.9 1.6
R 4 fii 3% TERDODEH 2 = B ® F & & T F 2 "R = w &
£ H Fx (xE@se+] E ¥ Fx ERGL+ B B | T ZESHE | T N | Fx |zmne« B M | B+ [ze0e« R | Fx zE0a+ T ¥ | FLx (ZE0a+ K B| FEx (zE#L»
£ = 53,134 87.6 1.7] 23,091 38.1 3.3| 25,807| 425 3.7 14,333 23.6 21| 10,980 18.1 1.6| 12,569 20.7 1.8 7,730 12.7 1.1] 1,423 2.3 0.2
s B IR 905 94.7 1.7 477 49.9 4.0 532 55.6 45 224 234 1.9 159| 16.6 1.3 206 215 1.7 103 10.8 0.9 19 2.0 0.2
g N 86 87.7 7.0 38 38.8 3.1 72 73.4 5.9 21| 214 1.7 10| 10.2 0.8 25 255 2.0 6 6.1 0.5 4 41 0.3
ZaR™ 41 78.0 6.8 18 34.2 3.0 29| 55.2 48 13| 24.7 21 4 7.6 0.7 9 171 1.5 4 7.6 0.7 1 1.9 0.2
RiB ™ 19| 104.8 1.7 6 33.1 2.4 25| 137.9 10.1 3| 16.5 1.2 3 16.5 1.2 3 16.5 1.2 1 5.5 0.4 3 17 1.2
T g 26 95.1 6.9 14 51.2 3.7 18| 65.8 48 5/ 183 1.3 3 11.0 0.8 13| 475 3.5 1 3.7 0.3 - = -0
* B: ADM0FAHEYORCHAE(ZERVROERIELEFHEHELKRIE)
* JERBE  BRIHTHIEERANDOEE
<&> (ERi294F)
o R .
N ST @ E 5 i I & & B i & B(EmEEZERO
<HETH M (FES) fixi Pt i (5 48) i (F1) SHELHEE F DO R il R (F8)
£ x mEsex £ x ZEae+ B B | Fx (ZEe+ B H | Bx (zaue+ E B | Bx zEne« B M| Fx z@0e+ E B | Fx [z50s+E | Fx [Z@8e+E | T x [ZE#L
£ =H 649,714|1,015.6 100| 152,936| 239.1 23.5( 56,692| 88.6 8.7 7,772 12.1 1.2 14,773 231 2.3( 32,628 51.0 5.0/ 108,518 169.6 16.7( 14,975 23.4 2.3| 14,407 22.5 2.2
gz B IR 11,183(1,102.9 100 2,553| 2518 22.8 1,032( 101.8 9.2 145| 143 1.3 288 28.4 2.6 582 57.4 5.2 1,862 183.6 16.7 363 35.8 3.2 112 11.0 1.0
T K 1,176(1,112.6 100 291 2753 247 95| 89.9 8.1 13| 123 1.1 25| 23.7 2.1 56 53.0 48 205 194.0 17.4 51 48.3 43 13 12.3 1.1
ZAaR™ 535| 948.0 100 134 2374 25.0 49| 86.8 9.2 10| 17.7 1.9 10| 17.7 1.9 28 49.6 5.2 83| 147.1 15.5 27 478 5.0 6 10.6 1.1
In R 245|1,245.3 100 64| 3253 26.1 23| 116.9 9.4 1 5.1 04 6| 305 24 16 813 6.5 36| 183.0 14.7 4] 203 1.6 3 15.2 1.2
T gk 396|1,338.4 100 93| 3143 23.5 23| 77.7 5.8 2 6.8 0.5 9 304 2.3 12| 40.6 3.0 86| 290.7 21.7 20| 67.6 5.1 4 13.5 1.0
R 4 fi 3% TRDODEH z2 = B ® F & & B F 2 B R R I
E K+ (mEBex E s+ |ERGe B B | Bx ZEHG+ F ¥ | Fx (zEnex F B | Bx (zmne« 2 B | Bx |ZEMe+ E ¥ | L x (ZEns E | FTx |[EE0a
£ = 43,707 68.3 6.7| 17,238 26.9 27| 75,589| 118.2 11.6 6,132 9.6 0.9 6,038 9.4 0.9( 12,565 19.6 1.9 6,239 9.8 1.0 883 1.4 0.1
s B IR 686 67.7 6.1 359 354 3.2 1,482 146.2 13.3 107| 10.6 1.0 92 9.1 0.8 200 19.7 1.8 83 8.2 0.7 17 1.7 0.2
g N 53 50.1 45 37 35.0 3.1 205( 194.0 17.4 12 114 1.0 7 6.6 0.6 23 21.8 2.0 4 3.8 0.3 2 1.9 0.2
Z2aRH 33 58.5 6.2 18 31.9 34 87| 154.2 16.3 5 8.9 0.9 2 3.5 0.4 1 19.5 21 - 0.0 0.0 2 3.5 0.4
IRiB ™ 4 20.3 1.6 8 40.7 3.3 54| 274.5 220 2| 10.2 0.8 3| 15.2 1.2 3 15.2 1.2 2 10.2 0.8 - = -0
T g 16 54 .1 4.0 11 37.2 2.8 64| 216.3 16.2 5/ 16.9 1.3 2 6.8 0.5 9 30.4 2.3 2 6.8 0.5 - 0.0 -0

* B:AO0AAHEYORCHS (ZERVRORIEEFHBEARKE)
* SEEBS BBICHTIREEINDES



(3) FEER-1%-FmEHRANFECH(T2—9 ER)

BT A7

(ERL29%)
1| 1| 51015202530 35|40 45| 50| 55| 60 | 65 | 70 | 75 | 80 o5+
2 2R ~ ~~]~|[~]~|~|~|~|~|~|~|~|~|~|~|~|pE
k| ank | On% | 148% | 198% | 24% | 29%% | 345% | 39i% | 445% | 4955 | 545% | 595% | 64a% | 695% | 744% [ 795% | 84%%
M 24050 2 1| | -| 1| 4 5| 10| 11| 22 21| 49| 73| 169| 182| 279| 422| 1,152
ERTHRHE B 1.229] 1 1l -1 - 11 3 2| 4 6 11| 11| 10| 32| 46| 116| 116]| 198| 248| 423
=) 1176 1| -| -| - -| 1| -| 1| 4 - 11| 11 171 27| 53| 66| 81| 174 729
fom 1860 - 1| | - 1| 2| 2 2 s 71 20 18] 41| 59| 138| 143| 199 320 902
rEwEes 5| 0w -| 1 -1 - 1 1 2| 2| 3 71 9| 8| 25 37| 91| 90| 142| 185 322
=) 93| -| -| -| - - 1| -| - 2| - 11| 10| 16| 22| 47| 53| 57| 135 580
e eos| - 1| - -1 - - -l - 2 2| 1o 9| 21| 371 85| 89| 104| 131| 207
EtEam || B 4071 - -l - -1 -1 -1 - 1 2 3| 5| 11] 22| 53| 57| 72| 84 96
=zl 201 -| - -| - - - -| - 1| -| 71 4| 10 15| 32| 32[ 32| 47 111
ey 19 -| -| -1 - - - - - 1 1| 2 2f 7 12| 25| 33| 97
RnExE | B o5 | - - - - - - - - 1 1l - 4 6| 7| 171 21 35
T o5 -| - - - - -l - - 1 -| 1| 2| 38 1| -| 5 8 12| 62
<BET @8 19 - - -| - -| - - - - 1 1l -1 3 - 2f 2 1| 3
H om |8 o] - -| -| - - -1 - -1 - 1 - - 1f - 2f - - -
(B | % 13 -1 -1 -1 -1 -1 -1 -1 -1 - - 11 - 2 - - 2 1 3 4
imtimpes 62 - - -| -| -| - - - - -| 1 1 2 2| 3| 4 15 11 23
8 sy | - - - - - - - - - 1 -| 1| 2| 3 3 13| 6 8
(1) | % 25 -| - - - - - - - - - - 1 1l - - 1| 2 5/ 15
o =g w7 - - - - - - - - 1 - - 1| 2 2 1| e 9f 17 68
2} sty - - - - - - - - - - - -| 2 1 1| 4 4| 14 25
(B¥) | % seq] -| -| - - - - - - 1 -| - 1| - 1| -| 2| 5 3 43
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3 i
=z 9 @ | 1~4|5~9g|10~ |15~ |20~ |25~ |30~ (35~ (40~ (45~ |50~ 55~ |60~ |65~ |70~ |75~ |80~ |85~
14| 19| 24| 29| 34| 39| 44| 49| 54| 59| 64| 69| 74| 79 84| Bk
B8 | 137 - = = = = = = 1 = = 1 5 9 20 9| 22| 26| 44
%t'&“é%% 5t 73 - - - - - - - - - - 1 2 6 7 5| 15| 17| 20
g i 64 - - - - - - - 1 - - - 3 3| 13 4 7 9| 24
B 7 - - - - - - - - - - - - 2 - - 1 1 3
BiE B 6 - - - - - - - - - - - - 2 - - 1 - 3
ik 1 - - - - - - - - - - - - - - - - 1 -
B 17 - - - - - - - - - - - 1 1 2 2 3 4 4
B Bt 11 - - - - - - - - - - - - 1 - 2 3 3 2
ik 6 - - - - - - - - - - - 1 - 2 - - 1 2
B 12 - - - - - - - - - - - - 1 3 1 2 - 5
b Bt 3 - - - - - - - - - - - - - - 1 - - 2
g i3 9 - - - - - - - - - - - - 1 3 - 2 - 3
Wi 6 - - - - - - - - - - - - - - - 2 1 3
EE'S’H{ Bt 2 - - - - - - - - - - - - - - - - 1 1
ik 4 - - - - - - - - - - - - - - - 2 - 2
B 8 - - - - - - - - - - - 1 - - - 1 3 3
EHZE%H Bt 6 - - - - - - - - - - - 1 - - - 1 3 1
7 ik 2 - - - - - - - - - - - - - - - - - 2
Wi 13 - - - - - - - - - - - 1 1 2 3 1 3 2
-3 Bt 5 - - - - - - - - - - - - 1 1 - 1 2 -
i ik 8 - - - - - - - - - - - 1 - 1 3 - 1 2
g, o | BM 24 - - - - - - - - - - - 1 1 3 1 7 7 4
X & | Bt 18 - - - - - - - - - - - - 1 3 1 5 5 3
5l Ui i 6 - - - - - - - - - - - 1 - - - 2 2 1
B 2 - - - - - - - - - - - - - - - - - 2
AIiRR | Bt 2 - - - - - - - - - - - - - - - - - 2
Loy i3
g 1 - - A - e T T s T ) I 1 - - A -
HE Bt = - - - - - - - - - - - - - - - - - -
i 1 - - - - - - - - - - - - - 1 - - - -
“wi 4 - - - - - - - - - - - - - 1 - - 1 2
FE Bt
ik 4 - - - - - - - - - - - - - 1 - - 1 2
Lo 3 - - - = = = = 1 = = = = 1 = - - - 1
B Bt
Tt 3 - - - - - - - 1 - - - - 1 - - - - 1
wi 1 - - - - - - - - - - - - - - - - - 1
BlE | B 1 - - - - - - - - - - - - - - - - - 1
ik - - - - - - - - - - - - - - - - - - -
i 39 - - - - - = = = = = 1 1 2 8 2 5 6| 14
TOH | B 19 - - - = = = S = = S 1 1 1 3 1 4 3 5
p°d ;3 20 - - - - - - - - - - - - 1 5 1 1 3 9




(4) (BROLLAIEMEFTEY il - FinbE R TR

(gD (FR29%)
3 i
® 9 @ | 1~4|5~0|10~ |15~ |20~ |25~ |30~ |35~ |40~ |45~ |50~ |55~ |60~ |65~ |70~ |75~ |80~ |85~
14| 19| 24| 29| 34| 39| 44| 49| 54| 59| 64| 69| 74 79| 84| Lkt
| 223 - = = = = = = = 2 3 1 7| 10[ 29| 25| 32| 40| 74
%-&ﬁﬁ&%% B | 130 - - - - - - - - 2 1 - 4 6| 21| 15| 20| 24 37
i 93 - - - - - - - - - 2 1 3 4 8| 10| 12| 16[ 37
B 4 - - - - - - - - - - - 1 - 2 - 1 - -
BiE B¢ 4 - - - - - - - - - - - 1 - 2 - 1 - -
Eog k3 - - - - - - - - - - - - - - - - - - -
T 28 = = = = = = = = - - - - 1 6 7 4 6 4
B Bt 22 - - - - - - - - - - - - 1 4 4 4 6 3
i 6 - - - - - - - - - - - - - 2 3 - - 1
B 12 - - - - - - - - 1 - - - 1 - 1 1 2 6
5 B¢ 5 - - - - - - - - 1 - - - - - 1 - 1 2
i 7 - - - - - - - - - - - - 1 - - 1 1 4
Y 12 = = - - - - - - - - - 1 1 1 2 1 1 5
Egg-salﬁ Bt 8, - - - - - - - - - - - 1 1 1 1 - 1 3
g i3 4 - - - - - - - - - - - - - - 1 1 - 2
X 19 = = = - - - - - - - - - - 4 1 6 3 5
g%gﬁ 2 11 - - - - - - - - - - - - - 4 1 3 2 1
3 g i3 8 - - - - - - - - - - - - - - - 3 1 4
W 16 - - - - - - - - 1 - - - 2 4 1 3 1 4
3 Bt 8 - - - - - - - - 1 - - - 1 2 1 1 1 1
I - i 8 - - - - - - - - - - - - 1 2 - 2 - 3
o & L0t 55 - - = = = = = = = 1 = 1 2 2 5 9 10| 25
EX & | Bt 39 - - - - - - - - - 1 - 1 2 2 5 6 6| 16
51 Ui -3 i3 16 - - - - - - - - - - - - - - - 3 4 9
s ol | - 4 - - - - 4 - - - - - - A A 2 -
AIAAR | B 2 - - - - - - - - - - - - - - - - 2 -
g k3
e 9 - - - = = = = = = 1 1 2 1 1 1 - 1 1
AE B = - - - - - - - - - - - - - - - - - -
Tt 9 - - - - - - - - - 1 1 2 1 1 1 - 1 1
oY 5 - - - - - - - - - - - - - 1 2 - 1 1
FE 5%
i 5 - - - - - - - - - - - - - 1 2 - 1 1
B 4 = = = = = = = = - - - - - 1 1 - 1 1
B B
i 4 - - - - - - - - - - - - - 1 1 - 1 1
B 6 - - - - - - - - - - - - - 2 - - 2 2
B | BiE 4 - - - - - - - - - - - - - 2 - - 1 1
i 2 - - - - - - - - - - - - - - - - 1 1
R 51 - - - - - = = = = 1 = 2 2 5 4 71 10/ 20
T | B 27 - - - - - - - - - - - 1 1 4 2 5 4 10
£y 24 - - - - - - - - - 1 - 1 1 1 2 2 6| 10




(5) FERAFETIEFI(T2—11)

X 4 R 20 £ L 21 & FRL 22 & F R 23 & SRR 24 £
3t R | 3 Ex | 3 R | e | 3% o
FEGL [ FBIETEY| 266.6) BiEFEW| 273.8| BEFAEW| 2751 | BIEHEY| 2841 | BiEFHEW| 286.0
B | 261 | DERB 158.9| MRS 150.8| ISR 162.8| B 1777 &S 180.2
B | £33 |mE&EE| 982|RMmELA| 98.3|RMELRSB| 102.3| MM EARSB| 1000 NmMEEE| 99.7
B | g4t i ¢ 88.6 i 84.8 Bifi 2% 941 B %% 98.9 it 4% 95.5
HEOHL (FEDEH| 434 EE 412 == 529 = 58.3| T 66.9
F6L [ BEFEY| 286.7) BiEFEY| 289.6| BiEHAEW| 268.0| BiEHEY| 281.8 BEtEFHEM| 2813
T | P | DERE 138.3| iMRE 139.2| &S 137.7| DER 1541 &R 176.0
3L [NmERE| 963 RMEKERB| 930[MMERE| 94.2|RMmEKESB| 89.5|RMEKEE| 91.1
A | Eaf fifi % 68.2| fhi#k 79.6| Fh#k 843 Hh#k 782  Fh# 75.9
EE56L | FTEOER| 452 EE 476 EF 63.7] == 64.1| == 67.8
B 4 R 25 £ S R 26 £ R 27 & F R 28 £ S RE 29 £
5t HEx 5E HEx 5t HEx 5t Hx 5t HEx
FE6L [ BETED| 299.0| BiEIED| 299.7| BMEFLEW| 3040 BEFHEY| 304.7| BEHEN| 3105
B | 26 | DS 1738| iMEE 175.0| MRS 175.0| &R 175.2| MRS 178.7
B | $3fr |mEkE| 959|MmELKRE| 965 fh# 96.6] ffizk 976| EE 102.2
]| Fahl fifi ¢ 91.8| ffiz 46| NMEHKSE| 942 EE 96.3|NMEHESE| 968
E541 EE 789 EE 759 T 88.6| MM EHKE| 953 Fhk 80.8
F6 | EMFEW| 3089 BrEpis| 306.8| BiEH AW 3106\ EMEFEM| 3043 BEHEM| 3426
F| F2b | DEB 160.9| IMVERB 1746| 1IDESR 1739| KR 1701 gESE 180.1
3L |MmERE| 893|RMEEE| 890 EE 108.7| £ 137.1| E= 135.9
A | AL EE 812 = 84.2|fNMmEARE| 865\ NMEFRE| 80.7| MM ERE 93.2
54 fifi %% 70.2| Wb 69.3| Ml 78.7| Hh#% 729 Bh% 68.2
* E[FAO105%

FTEREBS (02-1) FRR294F

i & 2B

zZ

EBEHED




4 FLIRFET

(1) ERAIARETHE -ZE (T2—12)

N F 205 215 TR 224F SRR 234 SERR24%F
O | #Ex | E | Ex | E | Ex | EH| Ex | EH
2 H 2,798 26| 2,556 24| 2450 23| 2463 23| 2,299
is; B R 58 33 38 2.2 41 2.4 49 2.9 27
g N 5 3.2 3 1.8 4 2.6 4 2.6 1
ZARRT 2 2.4 1 1.1 1 1.2 1 1.2 -
WB™ 3 10.3 2 6.6 - - - 1
T igh - - — — 3 7.1 3 7.1 -
N F 255 K265 FR274E SRR 284 ERR2945
E B | Fx | K | Fx | K H| Ex [ H| Fx | EH
2 H 2,185 21| 2,080 21| 1,916 19 1,928 20| 1,761
gy B IR 40 25 37 2.4 30 1.9 35 2.4 29
g N 4 2.7 2.2 1 0.7 1 0.7 2
ZaRt 2 2.6 1 1.4 1 1.3 1 14 2
HRH - - 1 4.0 - - - -
T igh 2 55 1 2.7 - - - -
* ETH&EFn
ZLIRFETEDHET (F2-3)
——2[F
IR E
—-— BN

-3
(2) HEFEHEILRFECH (T2—13)
_ _ (FRE294F)
X % BEER | KW m B & &

% ] 29 2|ZBRH

£ X " B 12 1|Z2ABRTH

BEBICRELI-RE 5 1|&ART

FLh R SR AT fiE 15 BE 2 -

Z [ fib 10 —
(3) iR, PBBUVECLIIZEBETH(T2—14)
R & |2 H)|EBER A m B H &
SR 204F 41 2 -
214 61 2 -
SERE224F 49 - -
T R234F 43 - -
T Rk244F 50 - -
k254 41 - -
SERE264F 33 -
FRE274 44 -l -
S RE284F 36 - -
SRR 294 36 1




5 3 &E

(1) FEXRFEEH-FE (T2—15)

X 4 F Rk 20 & E B 21 & E R 22 &
B B Fx | B RN IT[# || BR|ANIT| LBEH|Ex BRI AL
£ H 28,177 25.2| 12,625 15552 27,005 24.6| 12214 14791 26,5560 242 12,245] 14315
Ik & ] 388| 21.7 175 213 358| 20.2 186 172 382| 22.1 171 211
T W 38| 234 18 20 40| 23.6 19 21 35 22.0 14 21
ZAaRT 24| 275 8 16 22| 238 9 13 23| 26.9 10 13
BT 8| 268 6 2 9[ 288 4 5 2| 6.6 2 -
+ g 6] 13.3 4 2 9] 19.7 6 3 10[ 23.0 2 8
2 4 E R 23 & E B 24 & T B 25 &
B | Fx | B R[ANIT|[# 8|2 | BR|ANIT | LBH|[Ex| BRI AT
£ H 25,751 23.9| 11,940 13,811 24,800| 23.4| 11,448 13,352 24,102 22.9] 10938| 13,164
Iz B 8B 337 19.6 149 188 355 21.1 177 178 311 19.1 141 170
T N 24| 147 7 17 36| 23.2 22 14 24| 16.2 11 13
Z88RH 15[ 16.9 6 9 23| 275 16 7 11 141 5 6
In )R T 5] 17.0 1 4 5 16.3 2 3 6| 18.1 4 2
1 i 4] 89 - 4 8| 195 4 4 7| 18.8 2 5
B 4 E R 26 & I R 27 & R 28 £
BB Fqx | B R[ANIT[# 8| | BR|ANIT | B H | Ex| BRI AT
£ H 23524] 22.9] 10905 12,619 22,617 22.0] 10,862 11,755 20,934 21.0] 10,067| 10,867
I B & 313 20.3 144 169 320/ 20.3 148 172 289 19.1 154 135
T N 36| 25.9 16 20 32| 21.7 20 12 26| 18.6 17 9
E2-0 Al 24| 317 10 14 18| 22.7 12 6 12| 16.5 7 5
BETH 6] 233 2 4 5 18.1 3 2 9] 30.6 7 2
+ g 6] 16.1 4 2 9] 224 5 4 5] 13.2 3 2
SE R 29 £
R A g R & B R][ACT
£ H 20,358| 21.1 9,738] 10,620
iz B 1§ 254 17.8 128 126
g N 15[ 11.3 4 11
E2=0 Al 10| 14.1 3 7
RBEH 2| 86 - 2
X i 3 7.9 1 2
X % T
HAE 50t SEEREDHEFE (F2-4)
300 r
250 -
200 -
150 - - B I8
fets
100 - ~E N
50 -
0.0 :
20 21 22 23 24 25 26 27 28 29 &



6 IEIRCRENE

(1) FERAEBEK-E (T2—-16)

B % SRR 20 £ SRR 21 SRR 22 R 23 S RE 24 5
EH | Ex| R | E+x| RH | Ex| BRH ([ Ex| ¥ | Ex
£ H 726,106| 58| 707,734 56| 700214 54| 661895 52| 668869 5.3
iz B ] 10,919 5.3 10,364| 5.1 10,087 4.8 9,647| 4.7 9,521 4.7
T W 986 45 962 4.4 924 43 840 40 873 4.1
ZaRtm 555| 4.8 503 4.4 475 4.2 451 4.0 459 4.1
iR 176 43 188 46 165 4.1 165 4.1 194| 49
T g 255 4.2 271 45 284| 4.7 224 3.7 220 3.7
B 4 SRR 25 £ SRR 26 £ SRR 27 & S R 28 & S R 29 £
EH | Bx| R | Bx| B | x| EH | Ex| EH | Ex
) 660,613| 53| 643,749 51| 635156 5.1| 620,531 50| 606,866 4.9
i B R 9,492| 47 9,071 45 8,859| 4.4 8,581 43 8,392 43
T W 878 4.2 840 4.0 866 4.2 812 3.9 822| 4.0
ZaR™ 479 43 448 4.1 433| 39 446| 4.1 427| 39
iR H 181| 46 154| 4.0 189 4.9 155 4.0 157| 4.2
ol A 218 3.7 238 4.1 244 42 211 3.7 238 4.2
* FEFAOFX
(2) FERANHIBH - (T2—-17)
B 4 F X 20 F 21 £F TR 22 T 23 & ¥ K 24 &
E B | Bx| RH | Bx| RH | Ex| BB | Ex| EH | Ex
2 H 251,136| 20| 253353 2.0 251,378 1.99| 235719 1.87| 235406 1.87
g B IR 3413 1.6 3534 1.7 3,395/ 1.66 3,385| 1.66 3,306 1.63
T W 331 15 365 1.7 328 1.54 351 1.65 296| 1.40
ZaRm 174 15 194 1.7 165| 1.47 200 1.79 162| 1.45
I iR 70 1.7 64| 16 60| 1.49 54| 1.35 57 1.44
T ik 87| 1.4 107] 1.8 103| 1.70 97| 1.61 77| 1.29
B 4 F K 25 F F % 26 £F E 27 T X 28 4 ¥ K 29 &
E B | Bx| RH | Bx| RH | Ex| EH | Ex| EH | Ex
2 H 231,383| 1.84| 222,107 1.77| 226,215 1.81| 216,798 1.73| 212,262 1.70
i B IR 3,227| 1.60 3,182| 1.58 3,182| 1.56 3,058| 1.54 2,963 1.50
T N 320 1.53 308 1.48 292 1.41 325 1.58 278| 1.36
ZaRm 190 1.7 167 1.51 170| 1.54 176| 1.60 162| 1.49
B 47| 1.19 57| 1.46 40| 1.03 48| 1.25 50 1.32
T i 83[ 1.41 84| 1.43 82| 1.42 101| 1.76 66| 1.16

* EIAQF*




